
EE 230 —  HW 2.14               Name_________________________________________
 

Calculate the transfer function for the circuit shown below.  Express the result as a ratio of two 
polynomials.    Then find the expressions for the magnitude and phase of transfer function in the case 
were s = jω. 
 
 
 
 
 
 
 

                               
 
 
 
 
T(s) = Vo(s)/Vs(s) = ___________________________________________________________________ 
 
 
 
 
|T(jω)| = ____________________________________________________________________________ 
 
 
 
 
θT (jω) = ____________________________________________________________________________ 
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